Name: Class:

Addition word problems:
Solve the simple addition word problems.

1)  Annie has 3 oranges. Her friend gives her 2 more
oranges. How many oranges does Annie have in total?

3+2=

2) Tom has 4 toy buses. He buys 3 more toy buses. How
many toy buses does Tom have now?

4+ 3=

3) There are 5 parrots sitting on a tree. 4 more parrots
join them. How many parrots are there in total?

Hh+4-:

4) Sarah has 6 cookies. She gets 2 more cookies from her
mother. How many cookies does Sarah have now?

6+2:=
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